2020%7AR158 (k)

20204

IV 7O 7:EFIHE FIE FEHRH

-
A~

X

HHUM)—REE
(6253y P72)

[1:{ivs K % B B TOTAL OUT IN APEET gy E % B B  TOTAL OUT IN APEETggy K % Fi B  TOTAL OUT IN
1 BAR EE P 5 % 73 38 35 O @ 34 fBA B g2 83 41 42 64 J\IR QAIEE ¥LIIEE 88 44 44
2 Bl T PN 74 37 37 O 3 WM B& EFEVS 84 46 38 64 LElF —E8 RAER 88 43 45
3 ®Ilu A th E 75 37 38 O | 36 BEi H= BER 84 45 39 64 BRER 1EX VAL 88 41 47
4 MR EF-— E3p N 76 38 38 O 36 idtO & 7—kLAY 84 45 39 72 IRFT A% BrR=R 89 46 43
4 EHII B2z KE 76 37 39 O 36 ZJl EE 84 44 40 72 HIl EFF =05 89 46 43
6 BX ThL R 77 40 37 O 36 @A FHE  BEN 84 43 41 72 AR K F—HEUR 89 44 45
6 WA BHE KoE 77 39 38 O | 3 A EA FaAs 84 43 41 72 R—BE tH 89 43 46
6 M FE EZ-IAY-) 77 38 39 O 36 E I WA 84 41 43 2 EH B i 89 43 46
6 Hf ERB RAER 77 3 41 O | 43 K¥ HEE  Fan 85 47 38 72 ¥ OEZ Y<hr 89 40 49
10 HHE ®A  HKHEEE 78 41 37 O | 43 BF Kz HABR 85 46 39 78 HLE HEh X 91 48 43
10 Bl B ELiAY, 78 38 40 O @ 43 A8 —H FiF 85 45 40 78 EH 1= BEREZF 91 47 44
12 ER SEH  ~R=— 79 42 31 O | 43 &TH 5hm ViE— 85 44 41 78 NA #Z& EARE 91 45 46
12 &l X— EfEEHIR 79 39 40 O 43 IhME S gag—j 85 44 41 78 BE B ®BE 91 43 48
12 AR HBA F—H9FEUh 79 39 40 O 43 FEF & ZABR 85 43 42 82 Tl MR  HAEE 92 47 45
15 HO FHiE - s 80 44 3 O | 43 XK¥F B EFEVS 85 43 42 82 [EA HME PSUF— 92 44 48
15 &K @& =% il 80 42 38 O 43 &/ 2 83 85 43 42 84 HEIWL 1 LDE 93 49 44
15 R 3 (LDE 80 41 39 O 43 HFT MEX R=— 85 43 42 84 th|EH HWEE &I 93 48 45
15 FEKRK WZ H= 80 41 39 O 43 HLE & &S 85 43 42 84 HH X F—kLAY 93 46 47
15 Jb8F =E RyrE 80 40 40 O | 43 &EIE HFAE WA EE 85 42 43 87 /MU BHESE KRE 94 48 46
15 LB fEZE BZEs5o9s 80 39 41 O | 43 #5K IEBR REH 85 42 43 88 BEH HiE BEERER 95 52 43
15 ik ELF EEH 80 39 41 O | 43 THAE I KABR 85 37 48 88 BA BEF  EFSLB 95 51 44
15 de)l = %K 80 39 41 O | 5 KU 1Em EE=PE 86 45 41 88 Kfa =LA BE 95 46 49
15 E£F = RABR 80 38 42 O 5 R HBEE BER 86 41 45 88 Gl HtFl th 95 45 50
24 S MXx XH 81 44 37 O 56 #HmH XXk  KF 86 39 47 92 HAER B ~R=—— 97 51 46
24 FK 2 HIE 81 44 37 O 59 Z [£7H thE 87 45 42 93 Rk X RAR 98 50 48
24 1A RER BE 81 44 37 O 5 #B/»A = ER 87 45 42 94 fEE EBif HEZ 106 48 58
24 F{Fx EZ REH 81 39 42 O 59 FAH BE BEEFE 87 43 44 x®iE HBH MCS  mEB

24 H/E BRE &5 81 39 42 O 59 1t¥FH FHE Fhe 87 42 45 xE T8 BH— X

24 %2R HSEE HhE 81 39 42 O | 59 ®EIA — B/ ¥ N 87 41 46

30 LT IR RE 82 44 38 O 6 WFE E WA E R 88 46 42

30 /MR OIER RyrE 82 41 41 O 64 HE ZH# HE) 88 45 43

0 BR WA ER 82 40 42 64 HEF BB E#FEISIvH 88 45 43

0 FE =E T 82 37 45 64 T RE BRE=E 88 45 43

3 A IEA KARBER 83 44 39 64 R EfM wA 88 45 43




